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Chemistry I

Type 2 & 3

Stoichiometry

1. Potassium chlorate is sometimes decomposed in the laboratory to generate oxygen. The unbalanced reaction is     KClO3 (s) ------>     KCl (s) +     O2 (g).


What mass of KClO3 do you need to produce 0.5 mol  O2 (g)?
2. Phosphorus burns in air to produce phosphorus oxide in the following unbalanced reaction:  


    P(s) +      O2 (g) ------>      P4O10 (s)    Find…..

A) What mass of phosphorus will be needed to produce 3.25 mol of P4O10?

B) If 0.849 mol of phosphorus burns, what mass of oxygen is used? 



P(s) +      O2 (g) ------>      P4O10 (s)
3. Hydrogen peroxide breaks down, releasing oxygen gas in the following unbalanced reaction:       H2O2 (aq) ------->       H2O(l) +     O2 (g)
A) What mass of oxygen is produced when 1.840 mol H2O2 decompose?

B) What mass of water is produced when 5.0 mol O2 is produced by this reaction?

4. How many moles of aluminum is produced from 30.0 kilograms of Al2O3 in the following unbalanced reaction:      




Al2O3 (s) --------->       Al(s) +        O2 (g)
5. Sodium carbonate reacts with nitric acid according to the following unbalanced equation: 




Na2CO3 +      HNO3    ---------->      NaNO3 +     CO2  +     H2O 
A) How many moles of Na2CO3 are required to produce 100.0 g of NaNO3?

B) If 7.50 g of Na2CO3  reacts, how many moles of CO2 are produced?
6. Hydrogen is generated by passing hot steam over iron, which oxidizes to form Fe3O4 is produced in the unbalanced reaction, how many moles of hydrogen are produced at the same time?
 




Fe(s) +           H2O(g) -------->       H2 (g) +     Fe3O4
A) If 635 g of Fe3O4 is produced in the reaction, how many moles of hydrogen are produced at the same time?

B) How many moles of iron would be needed to generate 27 g of hydrogen?

